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(A) re%rpRirsc ¥ (Denialof Service) (B) Bxb%r sz# (XSS Attack )
(C) » @ A sz%¥ (Man-in-the-middle Attack) (D)% i¥sz#¥ (Replay Attack)
T 7] Visual Basic ;P B 7 > SeniE i@ ?
Dim S As Integer : S=0
For k=9 To 16Step 2
S=S+k
Next k
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T 7] Visual Basic #&;\${7¢ » 8IS i @ 9
Dim S ,C, I As Integer
S=5:(C=3
While C<=8
For I=1 To C
S=S+2
Next I
C=C+1
End While
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T 7] Visual Basic #&;\#4 {71 » ¥ #c result «hiE 5 @ ?
Dim operation , result As Integer
operation=b * 2 Mod 2 *34+6 /2
Select Case operation
Case 7
result=1
Case 3
result=2
Case 2
result=3
Case 18
result=4
End Select
(A4 @B 3@ 21
3 7 7 7] Visual Basic #&3;% # &8 > S ez ® ?
Dim A, B,S As Integer
S=0
For A=1 To 10
For B=11 -A To 1Step -1
S=S+1
Next B
Next A
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